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2022
ECONOMICS

Paper : ECO-HC-6016
( Indian Economy—II )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :
1x10=10
O 2PIRA R e w=bre T i

(a) Mention one objective of Indian ﬁscal
policy.

SRS SR ANeq GO1 Sy Sy 7 |

(b) What is repo rate of the RBI?
SO REré @R @1 @6 5 2
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(c)

(d)

(e)

(g)

(h)

(i)

G)
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(2)

State one direct instrument of Indian
monetary policy.
SRS THIAINSA Ol o7 ifden Tray 341 |

What is meant by financial inclusion’?
‘e S@eEFT A & J= W2

Give the meaning of TForeign Direct
Investment’.

‘sror (et RfFcmere s o o

What is capital formation in
agriculture?

IS Joiee 5154 3 2

Give the meaning of ‘minimum support
price’ of agricultural produce.

- FiRErS AR faey sedq Yo' we o |

State one reason for the growth of
service sector in India recently.

ArefSF TS SRR CRIIST RFIPE 9o F_9
TrEY 91 |

What is agricultural productivity?
TR Beomeere! & 2

Mention one method of public sector
disinvestment.

Fradl 393 RRfAcE=e 9o afer Soay 3311
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(3)

(k) Define the concept of ‘sustainable
agriculture’.

IZY PRI LRNCGR Jige o

() What is diversification of industries?

Srfae feawad &2

(m) State one main objective of the
Minimum Wages Act, 1948 by the
Indian Government.

>58b 5S RO HIPIA AqG F41 flaow gl
2T 961 o See Sy 41

(n) What kind of manufacturers are called
small-scale industries?

& @R Temee arpfed Bomet A @RI
q?

(o) Define monetary policy.
Tarsre NS et et |

2. Answer any five from the following questions
in brief : 2x5=10

wore il PR R 1A AAeor 5 T fud

(a) Distinguish between fiscal deficit and
primary deficit. |
IR 0 WE AEE oI Ao NLw
ey a1
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(4)

(b) Write two characteristics of small-scale
industries.

58 SCIsR o1 ¢y o o

(c) Write two merits of GST.
GST 3 701 R4 e o

(d) What is demonetization? Mention one
positive effect of demonetization in the
Indian economy. '

Ry 2 SrEY w¥Aifcs Rygeae™ 9o
NS SR SrEY 4] |

(e) Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

IR IWA INER TRER NI SRS HIINF 242
341 R G qo1 e fordt |

(f) Tertiary sector in India employs two
different kinds of people. Who are
they?

SR CRIRER Yo [{fSa w1 ggze s
IE | (OSERF @ ?
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(5)

(g) Mention two objectives of the National
Competition Policy of India.

SRed Agw AfsEfferEe Qe 1o SR
T 41

(h) State any two problems of Public Sector
Enterprise of India.

SRed el 36’ SreR R qo1 T

TCEY 41
3. Answer any four from the following
questions : 5x4=20
wers fral 2ppryed R e oifeoR T finan

(a) Explain any five instruments of fiscal
policy in India.
TRed AR MM B @ <we =fZem
BRI EIR

(b) Discuss the tools of monetary policy
of India. '

SR YIS SfREAPTZ A 1 |

(c) Explain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.

TE OKARA Teofts AEAR Tfpe T

fifveeid oY TIINA (T ATHEPTHR. I
oIl :
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(6)

(d) Point out the various labour policies
of India.

et Rfen 2w Mgz wglemi fra |

(e) Workers are  exploited in the
unorganized sector. Do you agree with
this view? Give reasons in support of
your answer.

sfds Y63 ARz onfie =W R« %
TRECT o2 FACA? (ONH TE{ LTS IfH
a1

(/ What is agricultural mechanization?
Explain the role of technology in Indian

agriculture.
R TRPetq 7 oRGw IR ayfeRme
SR I 4|

(g Discuss the role of small-scale
industries in Indian economy.

w@aw@%gﬁwwﬁi@m
I

(h) Point out the main features of Indian
tax system.

SRS 9 IATA T IREPR Sgferaiz firam |
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(7))

4. Answer any four from the following

questions : 10x4=40
Sete el o R e w1k Tes faan -
(a) Critically discuss the role of agriculture

(b)

(c)

(d)
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in the economy of India. 10

SROY SIS FRA PRA FAACATAREFSIR
G- 1 |

Discuss the problems and remedies of
small-scale industries of India. 5+5=10

SRS TE SRR AU WIF YA
SARPTZ, Ao 41 |

What is service sector? Analyze the
performance of service sector of India
during post 1990’s. 2+8=10

ARG 2 Sodvo e foz® SRST GRS
I TS Rema 311

Explain the role of foreign investment
in the economy of India. 10

RO HYAfE e RiFcmsm it
901

Give an outline of the various
macroeconomic policies of India. 10

sRed Rfes Smita@ wdtafes AT e[
AT F41 |
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(8)

() Give an assessment of the Government

policy towards foreign investment. 10
P REEPR cFae WRERY Afed afo
T STARCTIT

(g) Point out the various shortcomings of
the monetary policy of India. Suggest

some remedial measures. 6+4=10
SReT U] fRAfen TPRUrTR Sgfer fa |
wfamryz e aa g s i |

(h) Explain the causes of low productivity
of Indian agriculture. Give some
suggestions to increase agricultural

productivity. 6+4=10
sReN T FIH Seomme FRPHZ I 4 |
PRA Beomierel 3fad fogae  oREe|

fream | .

() Discuss the role of public sector
industries in the economic development

of India. 10
SRed HAfos Taue IEd 9e7 SR
SR S 3947 |

() What is agrarian structure? Outline the
agrarian structure of India. 4+6=10 .
oS A 27 SRew FRere R eome
AR ¥4 |

* k %
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